N & 0l & Av S Z M A
M W= UH
g W=+=% JH3xH
SRl GRES L SRR EERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
==X HH 7,494,708 7,510,486 N15,778
= 1,052,975 1,052,975 0
< 6,441,733 6,457,511 N15,778
=2 AAx=H 626,329 638,487 A 12,158
HaEd & A7 318,137 324,837 A6,700
O - IHE SAraat 228,780 230,280 A 1,500
202 044l 4,180 5,680 A 1,500
01 SLHOIYI 4,180 5,680 A 1,500
OO0 - IH7 SAAA HFRF=A Ol 4,180 5,680 A 1,500
=2 AIES2 49,757 54,957 25,200
202 4 Hl 3,300 8,500 A5,200
01 = LH 4 Hi 3,300 8,500 25,200
OUW==2 AlgH7 HRFE Ol 3,300 8,500 25,200
A ZE 2 308,192 313,650 A5,458
FA2d 292,192 297,650 A5,458
202 Oddl 2,250 4,250 A 2,000
01 = LH 4 Hi 2,250 4,250 A 2,000
OEMAE SXNES> HRFA K| 2,250 4,250 A 2,000
405 TtobFH SHI 35,542 39,000 N 3,458
01 AL ESFH SH 35,542 39,000 A 3,458
OZtAL H&I] 2 7,462 9,000 A 1,538
OZAMLE s 2 13,393 15,000 A 1,607
OXY FTUETAE £X 14,687 15,000 A 313
=8 0gsH 5,638,062 5,639,242 A 1,180
= 1,052,975 1,052,975 0
= 4,585,087 4,586,267 A 1,180
W= Hgs4 5,638,062 5,639,242 A 1,180
= 1,052,975 1,052,975 0
=) 4,585,087 4,586,267 A 1,180
== ASOI8 2= 1,093,660 1,094,840 A 1,180
202 044l 5,300 6,480 A1,180
01 SLHOYI 5,300 6,480 A 1,180
OU=H HRFE OHl 5,300 6,480 A 1,180
HH2IHH(HSHTGRAHE) 1,230,317 1,232,757 A2,440
Jl=Zdl 63,113 65,553 A2,440
FA2Y JIE23H 34,053 36,493 A 2,440
202 044l 6,200 8,640 A2,440
01 SLHOYI 6,200 8,640 A 2,440
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LH ==& Xt

H: HY2AAH(WSHIRAMEH)
¢l =gl (chel & 9l)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
ORM2E =UHH 6,200 8,640 A2,440






